Lattice energy problems
Which of the following statements is false
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Rank the following compounds from lowest to highest lattice energy, and explain your reasoning
SrO, CsI, NaBr, MgO, BaS

Rank the following from highest to lowest lattice energy and explain your reasoning
NaCl, MgO, CaO, Al2O3
Rank the following from lowest to highest in terms of bond strength and explain your reasoning
BeCl2, MgCl2, SrCl2, BaCl2 
Rank the following from highest to lowest melting point and explain yoru reasoning
[bookmark: _GoBack]KF, KBr, KCl, LiF, LiCl
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The lattice energy of LiCl has alarger
magnitude than that of NaCl.

Na reacts with 1/2 Cl, to form NaCl

molecules

Lattice energy decreases as ionic radius

increases as long as charge remains constant.

The lattice energy of CaO has a larger
magnitude than that of NaCl.

Some ionic compounds may not conduct

electricity when dissolved in water.




